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S.No. 11015
(Economics), Semester-II Examination, May 2018
History of Economic Thought '

Time: 3 Hours. ; Max. Marks:80

Note: Attempt five questions in all. Q. No. 1 is compulsory.

Q.

1

13,
iii.
v,
vi.
Vi,
Viil.

©
~J

©
fod

Attempt four questions from the remaining eight
guestions. All guestion carry equal marks.
Explain the following in not more than three lines:_
-8x2=16
Division of Labour
Diamond — Water Paradox
Labour Commanded and labour embodijed
Protectionism '
Consumer’s Surplus
Internal and External economics
Pigon Effect
Duesenberry Relative Income Hypothesis
Discuss Quesney’s concept of Net Product and explain

its circulation among various classes of society.” 16
Mercantilism has been described as counterpart of
political nationalism. Do you agree with the view? 16
Give a brief account of Ricardo’s economic id€as and
assess them critically. 16
Explain and examine Sey’s Law of Market. 16
On. what ground did Marx agrtte that the capitalist
system would break down through internal
contradiction? 16
Evaluate the contribution of Marginal Utility School.16
Is Keynesien Economics an evolution or revolution? 16
Examine the contribution of J.Robinson to economic
thought. 16
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S.No. 11014
M.A. (Economics), Semester-I[Examination, May 2018
Money & Banking
Time: 3 Hours Marks:80

Note: Attempt five questions in all. Q. No. 1 is compulsory.
Attempt four questions from the remaining eight
questions. All question carry equal marks.

Q.1 Answer the following briefly: 2x8=16

i.  What are different types of money?
ii.  Explain the functions of money.
iii.  Define insurance.
iv.  Explain the role of development banks.
v.  What is commercial bill?
vi.  What is NBFI?
vii.  Differentiate between LIC and GIC.
viili.  How are IRDA works?
Q.2 How money is important for the economy? Explain the
concept of Demand for money and supply for money.

16

Q.3 Define development financial institution? Describe

performance of all Indian financial institution? 16

Q.4 What is the difference between financial instfitutions

_ and development bansks?” 16

Q.5 Explain the growth of mutual funds in India. Also

explain the different types of mutual funds scheme. 16

Q.6 How SEBI works? Explain its guidelines for mutual

fund operations. 16

Q.7 Explain the growth situation of mutual funds? What

are the various types of mutual funds? 16

Q. 8 Describe the role and functions of IRDA. 16
Q.

9 Differentiate between primary and secondary market.
What is the impact of SEBI on working of capital
market in India. 16
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S.No. 11012
M.A. (Economics), Semester II Examinations, May 2018
Advanced Macro Economics

Time: 3 Hours | Marks:80

Note: Attempt five questions in all. Q.1 is compulsory. Attempt

four questions from the remaining guestions. All
question carry equal marks. |

Q.1 Explain the following: 2x8=16

i.  Samll opeh Economy
ii.  Exchange rates
iii. Types of inflation
iv.  Monetary Policy
v. Balance of Payments
vi. Business cycles
vii.  Fiscal Policy
vili. Investment
Q.2 Explain the international flow of capital, saving and
investment in a small open economy. 16
Q.3 Explain the Kaldor’s model of trade cycle. i
Q.4 Explain the current account and capital account
transactions and their effectiveness on the balance of

payments of a country.. 16
Q.5 How does new Keynesion Economlcs differ from new

classical macro Economics? Explain in detail. 16
Q.6 What is inflation? Explain its types and economic

effects on different people. j 16

Q.7 What is the concept of the business cycles? Explain
their characteristics. How can 'business cycles be

controlled? 16
Q.8 Explain the targets and instruments of Monetary and
Fiscal Policy. 16

Q.9 Describe the Short Run and Long Run Phillips Curve.
| 16
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M.A. (Economics), Second Semester, May 2018
Statistical Methods

Time: 3 Hours Marks:80
Note: Attempt five questions in all. Q.1 is compulsory. All questions carry equal marks.
Q. 1 Answer the following questions briefly: 2x8=16
i What is median?
What are the methods of calculating the arithmetic mean for a continuous series?
What is meant by base year? i

i
1.
1ii.

iv.  What is a random variable?
v.  What is meant by mesokurtic probability curve?
vi. What is moving average?

vii.  What is meant by splicing?
viil. ~ What is sample space?

Q. 2 Calculate the mode by applying the grouping table and analysis table method from

the following data: 16
Score 10-20 | 20-30 30-40 40-350 50-60 60-70 70-80 | 80-90
e, 5 6 25 32 35 17 8 2
Students ‘
Q. 3 What is Index Number? Examine whether the Index Numbers given by Laspeyre and

Q.4

Paasche satisfy the time reversal as well as factor reversal tests. 16
A bag contains 5 Red and 7 Black Balls. One after another, two balls are drawn at
random. What is the probability that both of the balls are of the same colour when
balls are drawn as per following conditions: e
a) without replacement b) with replacement

What is the concept of Theoretical Probability Distribution? Explain the main
properties of Normal Distribution. 16
In a sample of 600 persons selected from a village, 360 persons were found to be
vegetarian and rest were non-vegetarian. Given the sample size, can we assume that
both type of food are equally popular? 16
What is meant by hypothesis testing? What are various steps in the testing of
hypothesis? 16
Explain the following: 8+8
1) Spearman Rank Correlation Coefficient

11) Assumptions of simple liner regression analysis

Discribe main properties of correlation coefficient. Calculate the Karl Pearson

Coefficient of Correlation using the following data: 16
X1 65 50 35 55 60 25 45 80 85
X2 | 45 | 35 | 55 | 40 | 70 | 30 | 40 | 65 | 80
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i M.A. (Economics), Semester-II Examination, May 2018
i Public Economics - II
Time: 3 Hours - Max. Marks:80
Note: Attempt five questions in all, selecting one question from each unit. Q. No. 1 is compulsory. All
i question carry equal marks.
#° Q.1 Compulsory question: 2x8=16
i Whatis optimal provision of public goods?
ii.  What is majority voting?
iii.  Concept of performance budget.
iv.  Concept of social cost.
v.  Taxable capacity.
vi.  What is benefit principle of tax?
vii.  Vertical imbalance.
viii.  Fiscal deficit.
B UNIT-I
* Q.2 Write short note on the following: 8,8
a) Fiscal functions of the Government.
b) Market failure, its causes and solutions.
Q.3  Write short note on the following: 8,8
a) Lindhal equilibrium analysis.
b) concept of private goods, public goods, pure public goods, mixed goods and merit goods (with

example).
: UNIT-II
Q.4  Describe the process of budget making in India. Discuss major flaws in this preess and provide
suggestions to improve it. 16
Q.5  Explain in detail about the various criteria of public investment. Which criterion is best suitable
- for economy like India? 16
UNIT-III ‘

- Q.6 Write short note on the following: 8,8

a) Effects of taxation on work effort, savings, investment and growth.
b) Various approaches of taxation.

Q.7  Describe various policies undertaken in the area of indirect taxes in India. Can recently adopted
Goods and Service tax help the economy to achieve the objectives of high growth rate, equality,

larger tax base, employment and transparency? 16
UNIT-IV

Q.8  What kind of new policies have been adopted in fiscal reforms in India? Discuss jts impact on

various aspects of Indian economy. 16

Q.9 Make a detailed note on the centre state financial relations in India. What kind of new challenges
have been emerged in the recent time? Provide policy suggestions for the better centre state
fincancial relations. 16
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S.No. 15020

M.A. (Economics), 3rd Sem. Examination, May 2018

Development Economics

Time: 3 Hours Max. Marks:80

Note: Attempt five questions in all. Q. No. 1 is compulsory.

Q.

c 0 o0 0 o 00

1

il.
1il.
v.

vi.
vil.
viil.

Attempt four questions from the remaining eight
questions. All question carry equal marks.
Answer the following in brief (20-25 words each): .
8x2=16
What is meant by stationary state?
Identify the componenets of PQLI.
What is Basic Needs Approach to development?
What are the causes of downfall of capitalism
according to Schumpeter?
Draw a diagram to illustrate Low Income
Equilibrium trap.
What is subsistence wage?
Define monetary policy.
Give any two causes of state failure in developing
economies.
Do you think HDI is a better measure of economic
development vis-a-vis income measure? Justify your

opinion. 16
What are the different mecasurcs of economic
inequality? How can inequality be reduced? 16
Critically examine the theory of economic development
given by Marx. 16
Highlight the major  obstacles  to economic
development. 16
Do you agree with Leibenstein that a critical minimum
effort is essential for self-sustained growth? 16
Discuss Adam  Smith’s theory  of economic
developmerit. 16
Why is industrialization considered to be the keyv to
faster development of an economy? 16

Outline and comment on sSome of the arguments in
support of the idea that population growth is a serious
problem for Human Capital formation in developing
countries. 16
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1.
1i.
1ii.

v,

This is a compulsory question. 8x2=16
Define economic inequality.
Define agricultural labour.
Concept of net production in Physiocracy.
What is seven year agriculture system in Hebrew system in agriculture?

What is crop productivity?

Define self employment.
What is felative poverty? . 0

to tackle uncertainties in agriculture. 16
Elaborate the characteristics of Medieval economic thought on agriculture. What are
its limitations? 16
Critically evaluate the Greek economic thought with reference to agriculture. How it

is different with Hebrew? 16

policy changes are being experienced after NIT Aayog? 16
Write short 'note on the following: 16

a) Instruments of agricultural price policy.

b) Causes of inefficiency in agricultural markets in India.
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3 Hours ; Marks:80

Note:

Q.1

1.
1L
1ii.

iv.

vi.
vii.

Viii.

©000O
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e
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Attempt five questions in all. Q.1 is compulsory. Select four out of remaining eight
questions. All question carry equal marks.
Answer the following briefly. . 8x2=16

What is Forward exchange rate?

What is exp'enditure reducing fiscal policy?

When and why WTO formed?

What items are included in current account?

How do devaluation and import retrictions affect Balance of Payments?

If s=0.20 and m=0.20, then what will be foreign trade multiplier?

When and why IBRD was formed?

Write thé names of two commodities which.are imported and exported in India’s

foreign trade.
How do the expectations affect exchange rates? Explain. | 16
How is the national income determined in an open economy? 16
How are expenditure changing policies used for balance of payments equilibrium? 16
Describe the effects of customs union. ‘ 16
Is working of IMF is positive or negative from the point of view of a developing nation
like India? Elaborate 16

Critically examine the trade problems and corresponding changes in trade policies in

India over the time. 16
How is the FDI is affecting the sectoral growth rate of India? 16
How was the GATT transformed into the WTO? Explain? 16
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M.A. (Economics), Semester IV Examinations, May 2018
Applied Econometrics

Time: 3 Hours Max. Marks:80
Note: Attempt five questions in all, selecting one question from each of the four units. Q. 1 is
compulsory. All questions carry equal marks.
Q. 1 Describe the following in brief: 16
i.  Auto Regressive model
-ii.  Predetermined variables
iii. Dummy variable trap
iv. Instrumental variable
v. Stationarity
vi. MA Process
vii. Co-integration
viii. Random Walk model
UNIT-I
Q. 2 What are distributed lay models? Explain Almon approach to estimate these models.
16
Q.3 Whatis causality in Economics? Discuss Granger causality test in detail. 16
| UNIT-II
Q. 4 Discuss the use of dummy variables in testing the structural stability of a model and
interaction effect. 16
Q. 5 Ezxplain the Linear Probability Model (LPM) . State its limitations. 16
UNIT-III
Q. 6 What is simultaneous equation bias. Discuss the method of indirect least squares
(ILS) in reducing the simultaneous equation bias in the case of exactly identified
equations. 16
Q. 7 Discuss the 25LS method. Also explain the properties of the 2SLS estimates. 16
UNIT-IV
Q2 8 What is Non-stationarity in time-series dataiL. Discuss the Dicky-Fuller test of

stationarity. : 16
Discuss AR, MA, ARMA and ARIMA modeling in time-series forcasting. 16
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Time: 3 Hours Max, Marks: 80
Note: Attempt five questions in all, selecting one question from each unit. Question No. 1 is compulsory. All
question carry equal marks.

Q.1 Define following: 2x8=16

i)  Sustainable Development
ii)  Climate Change
iii)  Environment
iv)  WTO contribution to the Environment
v) . Two causes of air pollution
vi)  Contribution of Education to the Environment
vii)  Government's contribution in environmental prevention
viii) ~ When the new environmental policy came into effect?

UNIT -1

Q.2 Explain the indicators and rules of sustainable development in detail. ' 16

Q.3 Discuss the system of integrated environment and economic accounting in detail. 16
| | UNIT - I

Q.4 Discuss political economy of ecology and equity indetail. -~ - - - o e 16

Q.5 Describe management of common property resources. 8x2=16
' UNIT - ilf

Q.6 Describe water and air pollution control mechanism in detail. 16

Q.7 Discuss global environmental issues in detail, - 16
UNIT - IV

Q.8 Discuss the role of health in economic growth of a country. 16

Q.9 8x2=16

i) Discuss education and inequalities.
ii)  Describe accounting equation of Schultz and Denison in detail.
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Economics of Agriculture - II

Time: 3 Hours Max. Marks:80
Note: Attempt five questions in all, selecting one question from each unit. Q. No. 1 is compulsory. All
question carry equal marks.
Q.1 Compulsory question: 2x8=16
i.  Difference between stock and flow.
ii. Whatis Iso cost line?
iii.  Describe three major limitations of regional rural banks.
iv.  Functions of NABARD.
v.  Zerovalue labour in Schulz theory.
vi.  Short fallow stage in Boserup model.
vii.  Whatis food insecurity?
viii. ~ What is organic farming?
UNIT-I
Q.2  What is production possibility curve? Discuss in detail about the product-product relationship in
agricultural production. 16
(0.3  Write short note on the following: 8,8
a) Benefits of agriculture product diversification
b) Resource use efficiency in agriculture
UNIT-II
Q.4 Explain the role of commercial banks in providing agricultural and rural credit in India. What
kinds of problems are being faced by these banks in this sector. 16
Q.5  Write short note on the following: 38,8
a) Unorganized capital market and rural credit
b) Rural savings and capital formation
UNIT-1II
Q.6 Disucss in detail about the Hayami-Ruttan induced innovation hypothesis. What are its
limitations? 16
Q.7 Discuss the stages of agricultural development as described by Mellor. Also make a critical
appraisal of this theory. 16
UNIT-IV
Q 8  Discuss the impact of liberalization and globalization on the agricultural trade of India. What new
challenges have been created by World Trade Organisation in this area? 16
Q.9 Define the concept and mechanism of food security. Discuss the impact of policies adopted by the

Government of India to ensure food security. Also discuss major threats in achieving food security
in India. ‘ 16



